157) Center: (3. -14)

Radius: @

159) Center: (—16, 1)
Radius: 1

161) Center: (10, —15)
Radius: 2

163) Center: (-1, 1)
Radius: 7
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Loudoun County Public Schools Outlook WebAccess

There was a problem accessing the site. Try to browse to the site again.

If the problem persists, contact the administrator of this site and provide the reference number
to identify the problem.
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Ex 5] Write the standard equation for a circle with "
the endpoints of the diameter at A(-3, -1) and B(1, 5).
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In the figure, PR and QS are diameters of circle U. Find the measure of the indicated arc.
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